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Input:
(¥ +y* =10, xy =2

Plot of solution set:

4p

N

Solutions:

x ~ -0.646084, y ~ -3.09557
x ~ 0.646084, y =~ 3.09557
x ~ -3.09557, y ~ -0.646084

x ~3.09557, y ~ 0.646084

MATLAB kode:

function [u,v]=newton(m,k,N)
x=zeros(1,N);
y=zeros(1,N);

x(1)=m;

y(1=k;

for n=1:N-1
X(N+1)=x(n)-(xX(N)A3-x(n)*y(n)A2-10*x(n)+4*y(n))/(2*x(n)A2-2*y(n)A2);
y(n+1)=y(n)-(x(n)A2*y(n)-4*x(n)-y(n)"3+10*y(n))/(2*x(n)A2-2*y(n)"2);
end

plot(x,y)

u=x(N)

v=y(N)



octave:3> newton(1,0,100)

u= 3.0956
v = 0.64608
ans = 3.0956
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octave:4> newton(-1,-4,100)
u= -0.64608

v = -3.0956

ans = -0.64608
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octave:11> newton(-13,200,10)
u= 0.64607

v = 3.0956

ans = 0.64607
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octave:8> newton(123,-101,10)
u= 3.0956

v = 0.64605

ans = 3.0956
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octave:16> newton(10000,1000000,200)
u= 0.64608

v = 3.0956

ans = 0.64608
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